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1. BEEHILA
2 KX B E = B I A 72,2717, 005
5 T B E = B I A 5,245, 144
= & i} A 830, 000
& Bt & i} A 1, 205, 000
M lijrg A 1,437,772
BETERAG 80, 994, 921
2. BETHHXH
=<3 * & * H 71,159, 021
= b & * H 7,924, 254
BETEZHE 79, 083, 275
BETENZEEE 1,911, 646
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1. BEEBINA
5 T B = HR :- ) SN 25, 781, 632
BREREULAGT 25, 781, 632
2. BEZEHZH
5 T B = Hx 5 X W 20, 245,144
B T #& = Hx 5 X W 151, 200
BRERE MG 20, 396, 344
BREREINTELE 5, 385, 288
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1. BTSEBIA
BB A 5 0
2. BEEHXH
BT E B B 0
MTEEBINE 258 0
LHIN R E%E 7,296, 934
BIHAAE BN T = 5E 3,210, 292
REAMEBIN T EEE 10, 507, 226




